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71 | 2 | R6.1 &)1 1)1 By =% =¥ol=! 391-2 2950
72 | 1| R65 = 1)1 By FEIR A FRLA 1480-1 /A 3239
72 | 2| R65 O =)l 1)1 By FEIR A FRLA 1481 /A 2842
73| 1| R6.6 &)1 1)1 By =% =/ B 224-1 /| 625
741 1] R68 | O =)l 1)1 By A K= 14 /| 1841
741 2] R68 | O &)1 1) |17 A K= 15 H 2957
75 | 1 | R6.10 | O = 1) |18y INFAR VAV 34 m 2991
75 | 2 | R6.10 | O = 1) |18y INFAR VAV 35 m 2991
75 | 3 | R6.10 | O &)1 1) |18y IINFAR VAV 36 m 2960
75 | 4 | R6.10 | O &)1 1) 187 IINFAR VAV 37 m 2983
75 | 5 | R6.10 | O &)1 1) |18y INFAR VAV 38 m 1982
75| 6 | R6.10 | O =)l 1) |18y INFAR N 44 m 443
75| 7| R610| O &)1 121187 AR A 45 H 458
75 | 8 | R6.1I0 | O = 1) 187 IINFAR VAV 46 m 461
75| 9 | R6.10 | O &)1 1) |18y INFAR VAV 49 m 2873
75 [ 10| R6.10 | O =Yl 151187 NG A 50 H 2854
75 [ 11| R6.10 | O =)l 151187 AR AV 51 m 2849
75 [ 12| R6.10 | O =Yl 151187 NIFIR AV 52 H 2859
75 | 13| R6.10 | O A1l 151187 AR AN 53 m 2848
75 | 14| R6.10 | O =1l 151187 IINFAR =+ 31 m 2997
75 | 15| R6.10 | O =)l 151187 AR =+ 32 m 2993
75 | 16| R6.10 | O =)l 151187 IINFAR I 4 m 1648
76 | 1 | R6.10 | O =)l 151187 FER i 120-2 6418
77| 1 | R610| O =Yl 151187 B B 6 1471
77 | 2 | R6.10 | O E)1] 151187 it R 26 12416
77 | 3 | R6.10 | O &1 151187 i MR 60 632
77 | 4 | R6.10 | O &)1 151187 it MR 63-1 6161
77 | 5 | R6.10 | O =Yl 151187 B MR 63-2 7500
78 | 1| R6I1| O &)1 151187 AE BE 14 1630
79 | 1| R6.11 O =y 151187 & BB 18-1 57
79 | 2 | R6.11 O = 15) 1187 AE AR 33-1 42
79 | 3 | R6.11 O &)1 151187 AE AR 34-1 205
79 | 4 | R6.11 O &)1 15) 1187 AE iTH 339 793
79 | 5 | R6.11 O = 151187 AE M 414 1822
79 | 6 | R6.11 O B2 15)11 87 A itH 416 2476
79 | 7 | R6.11 O =] 15)11 87 A it 417 2259
79 | 8 | R6.11 O &)l 151187 HE R 3 776
79 | 9 | R6.11 O &)1 151187 HE R 5 1986
79 | 10| R6.11 O &)l 151187 HE R 6 2962
79 | 11| R6.11 O &)1 151187 HE R 7 1438
79 | 12| R6.11 O &)1 151187 HE R 8 753
79 | 13| R6.11 O &)l 151187 HE R 55-1 1652
79 | 14| R6.11 O &)1 151187 HE R 55-2 300
79 | 15| R6.11 O &)l 151187 HE RiEE 65 445
79 | 16 | R6.11 O 2 15)11 87 Al mR 31 5017
80 | 1 | R6.11 &)l 151187 AHEAR M 34 312
80| 2 | R6.11 | O &)1 151187 AHEAR M 56 503
81 | 1 | R6.11 &)l 151187 RER 30-1 1506




81 | 2| R611| O 1711 RER 30-2 M 1476
81 | 3 |R611| O &)1 b ] 8 M 807
81 | 4 |R611| O &)1 b ] 11 M 1121
82 | 1|R611| O =) B/ T 154 M 983
83| 1| R53 O LT FrER 5846-31 = 2,351
83| 2| R53 O LT FrER 5846-127 | H 2,600
83| 3| R53 O 1Li&B FrER 5846-285 | H 3,343
83| 4| R53 O 1Li&B F R 5846-286 | H 2,503
84 |1 1| R53 | O TE:Y FETE 78 M 475
8 | 2| R53 | O 1Li&B RIS 80 a2 431
8 | 3| R53 | O 1Li&B RIS 87 a2 659
8 | 4| R5.3 | O 1Li&B RS 90 a2 600
8 | 5| R5.3 | O 1Li&B RIS 1468-1 a2 730
85 | 1 | R6.10 @) 1Li&B AHTFE H78-1 H 431
85 | 2 | R6.10 O 1Li&B R/TF 82 a2 85
85 | 3 | R6.10 O 1Li&B R/ T F83-1 a2 5
85 | 4 | R6.10 O 1Li&B R/TF F83-2 i 72
85 | 5 | R6.10 O 1Li&B R/TF F93-1 i 4
85 | 6 | R6.10 O 1Li&B R/ T F93-6 i 44
85 | 7 | R6.10 O 1Li&B BH/R B99 a2 39
85 | 8 | R6.10 O 1L MR F193-1 2= 499
85 | 9 | R6.10 O 1Li&B IR BH201-1 a2 1,191
85 | 10 | R6.10 O 1L MR F201- A /H 1,191
85 | 11 | R6.10 O 1Li&B IR F201-0 a2 148
85 | 12 | R6.10 O 1L MR B206 H 95
85 | 13| R6.10 O 1Li#B IR B208-1 a2 499
85 | 14 | R6.10 O RES MR F208-2 2= 9
85 | 15 | R6.10 O 1Li#B IR B213-2 a2 17
85 | 16 | R6.10 O IRES MR H214-1 /A 171
85 | 17 | R6.10 O 1Li#B IR BH217-2 ' 41
85 | 18 | R6.10 O RES MR f230-1 135
85 | 19 | R6.10 O 1Li#B IR §1230-2 59
85 | 20 | R6.10 O RES MR f231-1 301
85 | 21| R6.10 O NE TABTF B258-1 264
85 | 22 | R6.10 O IRES =8 F 354 585
85 | 23| R6.10 O tLi#B =8 B 355 198
85 | 24 | R6.10 @) INES e F359 228
85 | 25 | R6.10 O tLi#B =8 B 360 251
85 | 26 | R6.10 @) INES e 378 575
85 | 27 | R6.10 O tLi#B =8 B384 254
85 | 28 | R6.10 @) INES PEMT B513 687
85 | 29 | R6.10 O INE PEMT B519 300
85 | 30 | R6.10 @) INES PEMNT H519-0 23
85 | 31| R6.10 O tLi#B HRIER B591 638
85 | 32 | R6.10 @) LB BRIES F592 267
85 | 33| R6.10 O tLi&B HRIER F595-2 99
85 | 34 | R6.10 O LT BIBES B596 357
85 | 35 | R6.10 O 1Li&B HRIER 597 287
85 | 36 | R6.10 O LT BIBES B598 264




85 | 37 | R6.10 O LB LR T G HRIES F599 H 46
85 | 38 | R6.10 O 1Li&B i) NN BRIEH 601 S 234
85 | 39 | R6.10 O LT LR T G INEE L 1078 I 373
85 | 40 | R6.10 O tLi&B i) NN R 2345 S 419
85 | 41 | R6.10 O LT LR T NN R/ 7 2 H 158
85 | 42| R6.10 O 1Li#R HLIEBET GiEN RIER 13 22 832
85 | 43| R6.10 O LT LR T GENN RIES 21 H 979
8 | 1 | R75 | O E%H | == == MR 48-1 M 530
8 | 2 | R7.5 E%h | E==H == MR 48-2 & 2,396
8 | 3| R75 | O E%H | == rt== MR 49 H 2,972
8 | 4 | R7.5 %5 | L==H == MR 50 2= 1,476
86 | 5| R7.5 | O E%H5 | L==8 == R 107 H 1,624
87 | 1| R75 O == Vil E=g=hii) 1287 THAE 65 1R 3,502
87 | 2 | R75 O =%H e=p=lii) =2 T&E 66 R 3,040
87 | 3| R75 O =45 &R HET B2 TAME 67 R 249
87 | 4| R75 O =%H e=p=lii) = T&E 64 S 1,477
87 | 5 | R75 O E%H =HHE E%H T & 86 Pl 507
8 | 1| R75 | O =XVl REEHT e BN 32 & 3,639
8 | 2| R75 | O E%H RERHT 3 2P 33 2] 3,283
88 |1 3| R7.5 | O E%H RERHT e i2p| 35 H 1,572
88 | 4| R75 | O = Vil REAET e RAAN 45-3 M 397
88 | 5| R7.5 | O E%H RERHT e i2p| 49 H 3,010
88 | 6| R7.5 | O = Vil REAET e RA#N 50 M 2,717
8 | 7| R75 | O EE Yl REEHT e HE 72 H 593
8 | 8| R75 | O E%H REAHT e MR 74 2] 2,204
88 19| R7.5 | O E%H RERHT e /N 27 H 2,985
88 10| R75 | O E%H RER AT e R 5 A 616
89| 1| R76 | ®|® E%H ke 3343 JH 97
90 | 1 | R7.6 O E%H e=p=lii) YNEEED] RER 8 M 3,131
9 | 2 | R7.6 O E%H e=p=lii) YNEEED] RER 20 & 2,374
90 | 3 | R7.6 O =45 = A HE YNEEED] AZILgn 14 & 2,428
9 | 4 | R7.6 O =Xl = A HE YNEEED] A 20 & 1,923
91 | 1| R7.6 | O =45 RALERT fic]iz == 49 & 2,964
922 1| R76 | O =Xl YN TEE AKREI 16-1 & 1,327
922 2| R76 | O =45 REAHT TEE AKRIER 3 H 1,934
92 | 3| R7.6 | O E4H REAHT TEE AKRER 5-1 & 1,488
922 | 4| R76 | O E4H REAHT TEE AKRER 5-2 & 375
92 | 5| R7.6 | O E4H REAHT TEE AKRER 5-3 & 36
92 | 6| R7.6 | O E4H REAHT TEE AKRER 5-4 & 10
922 7| R76 | O E4H REAHT TEE AKRER 7 M 1,335
93 | 1| R76 [ O | O X2l BB ET 0 BIER 66 I 3,139
94 | 1| R76 | O BMEINM (BMEIDINET] AN Eal= 23-2 & 1,576
95 | 1 | R7.3 @) = 181187 eyl J\IEHET 3163-1 & 1,117
95 | 2 | R7.3 @) = 181187 eyl J\IEHET 3164 & 758
95 | 3 | R7.3 @) = 181187 eyl J\IEHET 3172 & 102
95 | 4 | R7.3 @) 1711 181187 eyl JRHE 7 M 271
95 | 5 | R7.3 @) &1 181187 eyl JRHE 8 M 305
95 | 6 | R7.3 @) &)1 181187 eyl AN ) 3165 I 1,527
95 | 7 | R7.3 @) &)1 181187 eyl AN ) 3168 I 903




95 | 8 | R7.3 &)1 1)1 By E=vil J\I&E] 3170-1 /A 1,785
95 | 9 | R7.3 = 1)1 By E=vil J\I& ] 3171 /A 1,051
9% | 1| R7.7 O =)l 1)1 By Eali] KEFET 2534-2 M 816
9% | 2 | R7.7 O =)l 1)1 By Eali] B 41 /| 41
9% | 3 | R7.7 O =)l 1)1 By Eali] B 50 /| 229
9% | 4 | R7.7 O &)1 1) |17 ol B 51-1 55! 685
9% | 5 | R7.7 O &)1 121187 =15 3l 20 H 1,456
9% | 6 | R7.7 O = 1)1 |y Eali BeRIE 22 H 2,135
9% | 7 | R7.7 O =l 121187 =15 PR 24-1 H 38
9% | 8 | R7.7 O &)1 1) 187 Eali BeRH 24-2 55! 1,610
9% | 9 | R7.7 O =l 121187 =15 pdnlzs 4097-3 H 185
96 | 10 | R7.7 O =y &)1 BT ®15 gy 3falas 4392-1 M 173
96 | 11| R7.7 O &)1 1) |18y =15 )l 247 b 421
97 | 1 | R7.6 @) E4h 21187 BEX Fep 1930 55! 230
97 | 2| R76 | O | O E4h 2)118y SEX Fep 1931 55! 230
97 | 3| R7.6 O EEH )| f7 BEK Fep 1932 m 230
98 | 1| R7.7 O EZH 3P =3 LM 1699-1 M 430
98 | 2 | R7.7 O EZH 3PS =EH LM 1700-1 M 186
98 | 3| R7.7 O EZH 3Py =EH R 10-1 m 2,636
98 | 4 | R7.7 O EEH R LEHT =EH R 10-2 m 308
98 | 5 | R7.7 O == ] EEi) =EH il 11-1 H 2,654
98 | 6 | R7.7 O EEH R LEHT =EH R 11-2 m 322
98 | 7| R7.7 O EZH B 4e T =EH R 12-1 m 2,648
98 | 8 | R7.7 O EEH R4 ET =EH = 88 m 2,751
99 | 1| R78 O EZH HRE == R/HE 2 m 431
99 | 2 | R7.8 O ELH ERE =)= HlE 5208-1 P 210
99 | 3| R7.8 O ELH ERE =22 [icpidz= 5211-1 m 253
99 | 4 | R7.8 O ELH ERE =)= [icpidz= 5213-1 m 2,655
99 | 5| R7.8 O ELH ERE =22 [icpidz= 5219-1 m 4,220
99 | 6 | R7.8 O ELH ERE =)= [icpidz= 5222-1 m 69
99 | 7 | R7.8 O ELH ERE =22 [icpida= 5226-1 m 1,023
99 | 8 | R7.8 O ELH ERE =)= = H 15 m 2,043
99 | 9 | R7.8 O ELH ERE =22 i) 6 m 1,876
99 [ 10| R7.8 O ELH ERE =)= 2= 11 m 968
99 [ 11| R7.8 O %5 e=p= il = 5= 5334-1 1,046
99 | 12| R7.8 O E%h HAHET = i) 5336-1 1,980
99 | 13| R7.8 O E%h e=)=Li) = FHEE 5339 304
99 | 14| R7.8 O E%H HRE = NGz 5447 2,860
99 | 15| R7.8 O E%H H AT = NGz 5456-1 260
99 | 16| R7.8 O E4H H AT = B® 5458-1 3,156
99 | 17| R7.8 O E%H HRE = xR/ 2 62
99 | 18| R7.8 O E%H HRE = xR/ 3 795
99 [ 19| R7.8 O E4H H AT = LHIE 14-1 40
99 [ 20| R7.8 O E4H H AT = L5 14-2 2,973




